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Tuesday, March 17, 2009

--- On commencing at 10:49 a.m.

MS. COCHRANE:  Good morning, everybody.  I call to order the technical conference in this proceeding, the matter of a rate application by Newmarket-Tay Power Distribution, Board File No. EB-2007-0776.  This technical conference is convened pursuant to the Board's Procedural Order No. 2 issued on January 30, 2009.  In this procedural order, the Board determined that further discovery is required in this proceeding, and decided to do so by way of a quote-unquote modified technical conference process.  Procedural Order No. 2 provided that prior to the conference, intervenors and Board Staff who wished to asked clarification questions relating to the existing interrogatory responses, to file them with the Board and deliver a copy to the applicant on or before Wednesday, February 25, and that those matters then form the basis for this conference.  Newmarket-Tay was to provide written responses by Thursday, March 12, 2009.


Upon the conclusion of this technical conference, whether that is midday today or end of day today, or we carry on into tomorrow morning, whenever we do conclude, we will commence with a settlement conference right away.

As you know, we've had some delay in getting a court reporter this morning.  We don't have the usual court reporter.  In fact the system is recording, and I'll need each person to identify themselves by name before they speak as we don't have a reporter here who does that for us.

My name is Ljuba Cochrane, counsel for Board Staff.  With me is Lee Harmer for Board Staff, also Keith Ritchie, Christie Clark and --


MR. ADVANI:  Suresh Advani.

MS. COCHRANE:  Can I have appearances for the parties, beginning with counsel?
Appearances:

MR. TAYLOR:  Andrew Taylor.  My name is Andrew Taylor.  I'm counsel for Newmarket Hydro, and I'll let the Newmarket Hydro folks introduce themselves.

MR. FERGUSON:  Paul Ferguson, president of Newmarket-Tay Power Distribution.

MR. WEIR:  Dave Weir, Newmarket Power Distribution.

MR. CLINTON:  Iaian Clinton, Newmarket-Tay.

MR. HARPER:  My name is Bill Harper.  I'm here on behalf of Vulnerable Energy Consumers Coalition.

MR. AIKEN:  My name is Randy Aiken, here for Energy Probe.  With me is David MacIntosh.

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

MS. COCHRANE:  Are there any preliminary or procedural matters?  Okay.  So who wants to go first?


MR. TAYLOR:  Andrew Taylor.  Before we do start, I understand that the applicant would like to say a few words.
NEWMARKET-TAY POWER DISTRIBUTION
Presentation by Mr. Ferguson:


MR. FERGUSON:  Paul Ferguson.  We're here today to work with all of you on a rate filing, and I appreciate the need to understand everyone's interests and how best to meet them.  We take these matters very seriously and put our best efforts into them.

We've got a No. of priority initiatives ongoing:  This rate filing.  We've got Holland TS supply for North York region, and that's been a controversial project for a No. of years.  The controversy continues.  It affects all aspects of that project, especially negotiation of central land rights, and it's extremely time consuming for all of us.  And we see it as a must-do to protect the reliability of the area, and also to respect the OEB direction given to us to have that project in service.

We also have a major project in terms of TOU pricing and the IESO/MDMR integration.  We're the lead utility with MDMR integration, and also one of the two lead utilities introducing TOU pricing in Ontario.

We've willingly accepted this challenge, but it's been a huge staff commitment to us.  And what we've found is the technical and public education issues make mark opening (inaudible).


Also included in it was the OEB-sanctioned pilot for all industry stakeholders to better understand consumer reaction and the use of automated control devices for TOU pricing.

All these are challenges.  So it's been very, very demanding of our time.  We are doing our best to meet your needs on this rate filing, and we assure you our timeliness must not be mistaken for lack of interest and lack of respect.

I'm here today with Iaian and Dave not only to demonstrate our appreciation of the importance of this process, but also because we really enjoy learning from you, Board Staff and intervenors, about the shifting expectations of industry.

So I look forward to working with you through issues today, a better understanding of the subject, and having a productive and meaningful technical conference.

MR. AIKEN:  Randy Aiken.  My first questions have to do with depreciation and amortization numbers.  If you could turn up the response to Board Staff No. 48 and the table to that response, which carries over onto the next page, we have a column for 2008 test and 2008 actual, as well as the variance account or variance difference.

Under the -- or with the amortization line, there is a figure of 3998721 under both the 2008 test and 2008 actual cost.


Now, am I correct that the No. 3998721 in the test column is your net depreciation cost as per your filing; in other words, about $4.3 million less $300,000 adjustment?

MR. CLINTON:  Iaian from NT Power.  Yes, it is.


MR. AIKEN:  Randy Aiken.  So then what is the actual number that should be in place of 3998721 for 2008?

MR. CLINTON:  At the time that we wrote this, we still hadn't had the actual numbers, but if you use the Board Staff methodology, which is the half-year rule and the half-year rule come together, we believe it's about 4.131.  We apologize for any inconvenience that may have caused but, like I said, we haven't finalized...

MR. AIKEN:  Okay, can I then try -- Randy Aiken.  Could I then have you turn to the -- I guess you can turn to the response to Board Staff 44.  At the end of this table, there is a figure of 3976981.  So I guess two questions.  Is -- first of all, you're telling me now that this should be the 4.131 million, in total?

MR. CLINTON:  Iaian from NT Power.  No, this actually is a correction of the original IR with the data intact.

The first IR had the incorrect average years for classes in it.


MR. AIKEN:  Randy Aiken.  Sorry, are you saying this was still based on the forecast, not on the actuals?

MR. CLINTON:  Yes.  Sorry, Iaian from NT.  Yes, it was.

MR. AIKEN:  Randy Aiken.  Could you then turn to response to Energy Probe 52E?


MR. CLINTON:  If I can find it.  Yes.

MR. AIKEN:  What you'll find there is a table that ends up with the same number.  So it's basically the same response as in Board Staff 44.  But right at the beginning of that table, there's a sentence that says:
"This table has been updated to effect actual values."

So that is what is confusing me.  If this is forecast numbers, why does it say that this reflects actual values?

MR. CLINTON:  My mistake.  It should be updated to reflect the actual correct average number of years for the class.  Sorry about that, because I cut and paste from the OEB response to this response.

MR. AIKEN:  Okay.  So now if I summarize that - and I'll do that with Exhibit 7.  If you could turn up Exhibit 7 in the original evidence, this is the calculation of the revenue deficiency or surplus?  Sorry, Randy Aiken.  I know who I am, so I don't say my name that often, most of the time.


This is on page 138 of your evidence.

MR. CLINTON:  (inaudible)

MR. AIKEN:  Yes.  Page 138.  This is the revenue deficiency calculation.  I just want to confirm that what you're telling me now, that if I were to replace the depreciation and amortization number that is shown there of a little over 4.3 million, the actual number would be 4.131 million; is that correct?

MR. CLINTON:  No.  Sorry, Iaian from Newmarket.  No.

MR. AIKEN:  Okay, what is the correct number?


MR. CLINTON:  if you're using the original rate filing from Newmarket --

MR. AIKEN:  No.  Sorry, Randy Aiken.  I'm asking you for the actual depreciation number that would replace the 4.3 million for 2008.

MR. CLINTON:  Based on actual or based on --

MR. AIKEN:  Actual 2008.

MR. CLINTON:  Based on the Board's methodology of calculation?

MR. AIKEN:  If you've got more than one number, give them both to me.

MR. CLINTON:  You know you do a funky thing with the - 4.31 million.

MR. AIKEN:  Is the actual based on the Board methodology.  Now, do you have an estimate of the actual number that would replace the reduction of $338,000 for the adjustment?

MR. CLINTON:  Iaian from Newmarket.  It's a similar number.

MR. AIKEN:  So it's in that 3 --

MR. CLINTON:  What did we say, 340?

MR. AIKEN:  Yes.

MR. CLINTON:  So let's, just for argument's sake, use the 340 one.

MR. AIKEN:  All right.  Now, do you also have an estimate of how much of that 340,000 is reallocated to OM&A versus capital expenditures?

MR. CLINTON:  Iaian from Newmarket.  Yes, I do.  Approximately 40 percent would go to capital.

MR. AIKEN:  And then the other 60 percent goes to OM&A?

MR. CLINTON:  Yes, to OM&A.

MR. AIKEN:  And then my final question, and I e-mailed you this yesterday, Iaian.  Can you provide your best guess of what the CCA schedule would look like for 2008 based on your actual capital expenditures?

MR. CLINTON:  Yes, I can, but not right away.  I had to leave the office 8 o'clock to put my triplets to bed, so I didn't get a chance to get to your request last night, sorry.

MR. AIKEN:  Can I get an undertaking to have that provided?

MR. CLINTON:  Yes.

MS. COCHRANE:  We should make that undertaking JT1, to put it on the record.

MR. AIKEN:  Yes, to provide an updated CCA schedule for 2008 reflecting actual capital expenditures.
Undertaking No. JT.1:  To provide an updated CCA schedule for 2008 reflecting actual capital expenditures.

UNKNOWN SPEAKER:  (Inaudible)

MR. AIKEN:  Yes.

MS. COCHRANE:  Do we have that undertaking from the applicant?  Andrew?

MR. TAYLOR:  Andrew Taylor.  We do.

MR. AIKEN:  One final thing.  I think most of you have a copy of the document that was handed out this morning.  I have been asked to put this on the record so that other parties can refer to it, if they so wish.

MS. COCHRANE:  Let's make this the first exhibit, Exhibit 1.  And can you describe the document?

MR. AIKEN:  Estimated revenue deficiency based on actual information for 2008.
Exhibit No. 1:  Estimated revenue deficiency based on actual information for 2008.

MR. AIKEN:  Those are all my questions.

MS. COCHRANE:  I have a quick question for the applicant about Exhibit No. 1.  Just to be clear for the record, are you -- are you accepting the figures or the calculations in this document, or are you just going to agree to the document being admitted as Energy Probe's calculations?  I don't know if it --


MR. TAYLOR:  No.  Andrew Taylor.  I think that this is being filed for the purpose of discussion, but we don't accept all the numbers in it.

MS. COCHRANE:  All right.  Thank you.  Mr. Harper, do you want to proceed with questions, or --

Questions by Mr. Harper:

MR. HARPER:  I guess that would be me.  It's Bill Harper for the Vulnerable Energy Consumers Coalition.

I guess the first question I had I guess starts with your response to Energy Probe 29.  You probably don't have to turn this up, but it basically, I think, was asking about regulatory costs and indicated that you had in your application a budget amount for 2008 of $25,000.

In this response, you were indicating that you anticipated the total project was going to cost in the order of $60,000.

I think that led to a follow-up, which was Energy Probe No. 55, which was the one I wanted to ask you about, where you indicated again that -- you indicated that, yes, you had updated your expectations that it was $60,000, but you indicated here that you believed it would actually cost -- was actually going to cost you now more than $60,000 in total for the 2008 rate application.

I was wondering if you had an updated number as to what you thought the total cost of the application was going to be.  And let's, for want of sort of allowing you to make the estimate, assume that we come to a mutual settlement over the end of the next couple of days and that -- and the proceeding ends with that.

MR. CLINTON:  In our original -- sorry, Iaian Clinton from Newmarket-Tay.

In our original submission, we were budgetting about $25,000 per year to be dealt -- for processes in dealing with the OEB, whether it be this project or other projects.  That is a per annum.  I figured one year's cost would be 25 grand for the cost-of-service settlement.

However, since that time, and talking to fellow industry LDCs, their prices seem to have significantly increased over my original budget.  I hear stories where the total cost of a cost-of-service application for LDCs less than 50,000 customers can be up to $300,000, which is extremely much.

So we were -- when we sat down and we tried to figure it out, we thought 60,000 might be a more accurate number of all costs in for intervenors, OEB, newspaper, et cetera.

Our current costs to date in fiscal year end 2008, we've got about $10,000 in consulting help, plus $5,000 in the newspaper advertizations.  Of course now we've gone forward, we've had to hire a lawyer and we will be expecting intervenor bills at some point in time, as well.

So we're hoping $60,000 is enough to cover the whole process.  If it's more than $60,000, we would just like a deferral account and put the difference in there.

MR. HARPER:  Actually, that was the subsequent question I was going to follow up with.  Could you just clarify, because I noticed in the last -- sorry, it's Bill Harper again.

In the last sentence of that response to interrogatory 55, you had indicated you would be requesting a deferral account for the recovery of funds.  I just wanted to clarify that your deferral account request was just for incremental costs over and above what would be internal costs to the company, itself.

MR. CLINTON:  We hadn't put any internal costs in.  This is all external costs.

MR. HARPER:  Oh, okay.

And I guess the other thing that had been asked in the interrogatory, generally, was the question about whether or not, since this was a one-time cost which was going to be basically standing you for the IRM term, which basically runs for four years, whether or not, it's sort of a pseudo four-year amortization of the $60,000 was something that would be appropriate.

And I guess you sort of indicate in your response you want to confirm that the four years was appropriate, but you weren't too sure if the 15,000, which multiplied by four would give you the 60,000, was going to be sufficient.

What you're currently saying, your expectation is that the 60,000 may be sufficient, but you want the deferral account --


MR. CLINTON:  Just in case.

MR. HARPER:  -- just in case?


MR. CLINTON:  Yes, that's okay.

MR. HARPER:  Okay, fine.  I just wanted to make sure I understand what your position is on that.  So that's fine.

The second question I had was your response to VECC No. 48.  That was in the second round responses, VECC No. 48 and was part B.

And here we were asking about the interest on customer deposits, and I think you indicated that you earn, on customer deposits, Canadian business prime less 1.75 percent?

MR. CLINTON:  Yes.

MR. HARPER:  And that you basically pay to customers Canadian business prime less 2 percent.  And I'm not going to quibble the difference; that's fine.


What I was curious about was the second half of the response that said deposit interest paid on customer deposits in 2008 was budgeted at $100,000, which sounded to me like you're going to be paying out $100,000 to customers on deposits.

MR. CLINTON:  Mm-hmm.

MR. HARPER:  The second half said revenue was budgeted at 42,000, and I guess what I was struggling at was if your interest on the deposits earned was higher than what you were paying out, and you were paying out 100,000, why the revenues wouldn't be in excess of $100,000?

MR. CLINTON:  Because my bank balance is going to -- sorry, Iaian Clinton from Newmarket-Tay Power Distribution.


Basically what's going to happen is when we sat down with the methodology, cap-ex was -- as you know, was going to be high.  I was thinking that our bank balance would dip below the deposit balance, so there is where you get the difference.

So I'm going to earn two-and-a-half, whatever the average rate was for the year when we thought about this in 19 -- in 2007.  Basically, I have deposits on average of 4.3.  The bank balance is going to be significantly lower, so there's an offset there.

MR. HARPER:  Bill Harper again.  So the two numbers really aren't comparable, because 100,000 is the interest earned on the customer deposits; 42,000 is -- 100,000 is the interest paid on customer deposits?

MR. CLINTON:  Yes.

MR. HARPER:  I apologize.  The 42,000 is the interest earned on your bank balance, which is something different than the customer deposits.

It would be fair to say that on the customer -- if you just think of customer deposits as a whole, Newmarket is effectively held roughly whole?  I mean, I'm not going to quibble about 0.275, but you're held roughly whole on customer deposits overall between what you're allowed to earn and what you earn and what you're required to pay customers?

MR. CLINTON:  Yes, and we gross them up for financial statement presentation.

MR. HARPER:  So from a cost perspective, they really don't have -- there really is no cost to you for customer deposits, really, in a general sense.  What you make on them is offsets, or generally offsets --


MR. CLINTON:  What I make on them is what I pay out.

MR. HARPER:  Right.

MR. CLINTON:  I just gross them up for financial statement presentation purposes.

MR. HARPER:  Right.  But from a revenue requirement perspective, they really have no impact on your revenue requirement?  I mean, they aren't a -- you don't have to collect any additional monies from customers because you have customer deposits over and above --


MR. CLINTON:  I should net them, and that would take them out of the revenue requirement, is what we should do in the future.

MR. HARPER:  Okay, fine.


Bill Harper again.  I wanted to turn to VECC No. -- answer No. 50.  It's just over a page or so in the same responses.  And it's to do with the deferral account balances.

Now, I'm just trying to get clear in my mind what the deferral account balances are and what the balances was that you were trying to clear, because if I look at the response to 50A, there's really two balances here.  You have an as-submitted balance, which is -- maybe you can just explain to me what the difference is between the two-four -- the 2,485,132, and then there's a recovery amount quoted of 2,604,905.

If you could maybe just explain to me what the difference between those two numbers is?

MR. WEIR:  Dave Weir, Newmarket.  Yes, the as-submitted is the amount we would have recovered using the statistical data and the rates that we had submitted with the original submission.

It was slightly different than the outstanding -- projected outstanding balance as of April 2008, but fairly close.

One -- and I forget the number of the response -- sorry, the IR, and I haven't read No. 50 just at this point, and I think you indicated that had we looked at the revised allocators that were brought out in 2004 used for 2006 EDR -- Bill, is that correct?

MR. HARPER:  That was correct, yes.

MR. WEIR:  Thank you for pointing that out.  The way we had calculated the rates initially was to take our approved rates and simply lower them - our recovery needs to go down, by the way - simply to lower them by a fixed percentage figure.

So the initial calculation that was made for those, our existing rates, was prior to 2004, so therefore did not include the allocators that were in that 2004 document.

I have since done the allocation -- an allocation spreadsheet that uses the allocators for all accounts except three, which -- there was no allocator provided in that particular document.  And I took the liberty of using an allocator that, to me, seemed reasonable, okay?

I then recalculated the rates to recover the entire outstanding balance that we showed, the debit balance of 2,604,000, in our submission.  So that's what these new rates that show in the second-last column are designed to do.

MR. HARPER:  Bill Harper again.  It wasn't actually as much the change in rates.  I understood that, because if you change allocators, you change rates.  It was -- I was having trouble with, struggling with why the total amount being recovered changed and you simply didn't change the allocators.

MR. WEIR:  It's simply because in our recovery, as I say, I just -- I was using a percentage, and I sort of got it close and it wasn't exactly the number.  The revised version brings it exact.


Now, there is another issue here, that we have been recovering at our approved rates since April of '08, and this value needs to be reanalyzed when we know what our implementation date is, so that we can come up with the rates based on the amount of over-recovery we've had since that point and with the new allocators.

MR. HARPER:  Okay.  Bill Harper again.  Just maybe one closing question on this.  If you go back to page 128 of your main application, that's where you're showing the deferral account balances for each of the accounts and the sum total at the bottom.

MR. WEIR:  Yes.

MR. HARPER:  Now, as I understand it - Bill Harper again - your proposal was basically to - I'll use a euphemism - clear out all of the accounts except for the PILs contra account?

MR. WEIR:  That's correct.

MR. HARPER:  And so actually what I was struggling with was if I take the total at the bottom of this page, which is 2,213,298, and I add back in the PILs contra account, which has got a negative balance of three-oh-seven-three-seventeen, I come up with $2,520,615.

Is that the amount that you're targetting to recover with these rates we talked about in response to No. 50?

MR. WEIR:  Dave Weir.  No, it isn't, Bill.  That 2008 column was a projection to the end of 2008.  The two-million-six that is the amount we have in the model to recover was effective April of 2008, which was supposed to be the beginning of our rate period.

MR. HARPER:  Bill Harper again.  I understand.  This has added a December 31st number as opposed to April 30th number, okay.

MR. WEIR:  Yes.

MR. HARPER:  Okay, that's great.  Okay.  My final area of questions - Bill Harper again - has to do with -- if you could turn up the response to VECC 51?

This has to do with cost allocation, and I think maybe before we get into the guts of the question here, would you agree that the Board's cost allocation model, when it's taking the cost of transformers that are owned by the utility, only allocates the cost of those to customers who are actually using the transformers?


Is that your understanding of how the Board's cost allocation model works?

MR. WEIR:  Dave Weir.  Yes.

MR. HARPER:  So that if we -- I would like to turn, then, to the example, the little scenario you gave at the back end of the question here, and maybe if we could walk through this a little bit; that is, you've got an example here where you've got two customers and they are both served by a transformer.  The residential customer, it's a utility-owned transformer; the GS greater than 50 customer, it's a customer-owned transformer.

Would you agree that in that case, the Board's cost allocation model would allocate all of the transformer costs basically to the residential class or that one residential customer?

MR. WEIR:  I am going to answer with I'm really not sure on that one, Bill.

I was involved in the cost allocation team that put the current model together.  I wasn't party to the calculation of that particular item, and I was a little bit unclear, when you first asked the question in the first round.

I think whatever we come up with in transformer allowance needs to sort of follow this simplified path that I've shown here, that we don't overcharge our GS greater than 50 customers by putting the coots of the -- let's call it the credit to -- the allowance to customers that own their own transformers back within that group, only.

And that's kind of what I read into the Guelph scenario.  And I'm really not sure, though, that that's what it is.  So I'm saying maybe.

MR. HARPER:  Well, yes.  And maybe if we could just walk through this example of yours.

MR. WEIR:  Sure.

MR. HARPER:  And maybe we can see where it takes us, because if we agree, as you seem to do at the start, that the model itself basically allocates the cost of transformers to those customers who are served at secondary voltages, i.e., those who are using utility transformers, say if we accept that as the premise for how the model works, then this example you've got here, since the GS greater than 50 customer owns his own transformer and the residential customer doesn't, would you agree that it's only two customers, but the simple allocation would allocate all the utility costs for transformers to the residential customer, because that's the only transformer that the utility owns?

MR. WEIR:  Dave Weir.  Yes, that's correct.

MR. HARPER:  So that actually, in this particular case, if we were setting rates based on the allocation results, we actually -- would you agree we actually wouldn't need a transformer to discount at all, because the GS greater than 50 customer is allocated no transformer costs, and so, therefore, his rates don't include any costs to begin with?  Would you agree with that?

MR. WEIR:  I would agree with that, and I guess if we had two customers in the class, that --

MR. HARPER:  Well, that's exactly where I was going to take -- where I was going to take you next, actually.

MR. WEIR:  I actually thought of that when I was putting this little thing together.

MR. HARPER:  Because the next scenario would be is we have three customers.  Two are GS greater than 50 customers, and there is one residential customer.  There's now two transformers on the system, because one GS greater than 50 customer, customer A, owns his own transformer, but customer B does not.  The second GS greater than 50 customer basically uses a utility transformer.  The residential customer uses a utility transformer.

Would you agree that in that case, assuming the two transformers are the same size and the same -- that basically half the transformer costs would be allocated to the residential class and half the transformers costs would get allocated to the GS greater than 50 class?

MR. WEIR:  Yes, I agree.

MR. HARPER:  And that in that case, would you agree the residential class is basically, through the cost allocation, picking up all the costs for the transformers that they use?

MR. WEIR:  Yes.

MR. HARPER:  Okay.  Bow, when we turn to the GS greater than 50 class, it's basically -- if we start setting rates for the GS greater than 50 class, would you agree that if we took the results of the cost allocation as it came out and just set a simple rate that was the same for all customers in that GS class, the customer who owned their own transformer would be paying too much, because the class has been allocated some transformer costs?

MR. WEIR:  Dave Weir.  This is where I'm having trouble answering.

MR. HARPER:  Well, maybe it's something we can pursue later on, in discussions.  I think if you're sort of having difficulty sort of conceptually following it, maybe it's just easy to --

MR. WEIR:  And just to finalize my point, I'm really not familiar enough with the cost allocation methodology followed to answer that question exactly.  However, I think any future studies, for sure, need to do exactly what this little example does, and your similar example of three customers instead of two.

And I just can't say for sure that it's doing that right now.  I thought it was.

MR. HARPER:  Well, I think probably we'll be having subsequent discussions during the settlement discussions, and maybe that's the easiest way to -- we can then draw pictures on pieces of paper to ourselves and pursue it then.

MR. WEIR:  Yes.  I'm fine with that.

MR. HARPER:  I think those are all the questions that I had.  Thank you very much.
Questions by Mr. Shepherd:

MR. SHEPHERD:  I have a few questions.  Jay Shepherd, School Energy Coalition.

Let me start with Exhibit No. 1, which is Energy Probe's calculations of actuals.  And if you don't mind, I'd like to spend a couple of minutes and walk through those numbers and see whether you can identify the ones that you already know are correct and the ones that you already know are incorrect, and then we'll see whether there's ones of which you're not sure whether they're correct or not, because some of these numbers are directly from your evidence.

So I'm going to start with the distribution revenue number, which Energy Probe has got from a Board Staff interrogatory and I think has then adjusted it to normalize it.

Have you had a chance to look at that?

MR. CLINTON:  I would require some more time.  We've had a chance to do a cursory look.

MR. SHEPHERD:  Okay.  So does it look close, or is this something that you need to do a detailed analysis before you have any sense at all?

MR. CLINTON:  We probably need a little bit more time to do a detailed analysis with Mr. Aiken.

MR. SHEPHERD:  Okay.  The next line, "Other Operating Revenue, 809,389", this is a number you provided; right?

MR. CLINTON:  Iaian Clinton for Newmarket.  Yes.

MR. SHEPHERD:  So this number is correct?

MR. CLINTON:  That number is correct if you're looking at the end of 2008.

MR. SHEPHERD:  Okay.  The O&M expense, 5,374,428, that's also in an answer.  You've given that in an answer to an interrogatory.


I take it that number is also the actual spending that you had on O&M for the test year, 2008?

MR. CLINTON:  If you're asking if that's the actual dollars spent --

MR. SHEPHERD:  Yes.

MR. CLINTON:  -- that is the actual dollars spent, although it doesn't compare directly to budget.

MR. SHEPHERD:  No, understood, but that's how much it actually costs you to run the distribution utility for the year for O&M?

MR. CLINTON:  If you're getting at that's what we actually spent, yes.  It's not what we had in budget, because there were certain things that had not yet come up.

MR. SHEPHERD:  Okay.  Now, tell me how this 338,937 relates to that.  Is some part of that 339,937 in there?

MR. CLINTON:  Iaian Clinton, Newmarket.  Yes.  Basically, the depreciation for vehicles, as discussed with Mr. Aiken, gets split.  Part of it goes to -- it goes to a capital clearing account.  The other part, again, will go to a clearing account that gets fed into O&M.

MR. SHEPHERD:  So is that -- is the OM&A component, the 60 percent, is that in the O&M number or is it in the depreciation and amortization number?

MR. CLINTON:  The O&M number.  Iaian Clinton from Newmarket.  It's in the O&M number.  It gets split two ways.

MR. SHEPHERD:  Okay.  And then the other 40 percent is in what number?

MR. CLINTON:  It's allocated into fixed assets.

MR. SHEPHERD:  Okay.  All right.  So then the depreciation and amortization line, this is 3,998,000, and Mr. Aiken asked you about this and you said, No, the correct actual for the year is 4,131,000; right?

MR. CLINTON:  No, that's not the correct -- it's based on the Board's methodology of calculating depreciation.

MR. SHEPHERD:  Oh, so your actual depreciation was different, because you don't use the same methodology?

MR. CLINTON:  We can't answer the actual one, but this is trying to compare apples and apples to the Board method of calculation.  We do the half-year rule and it gets added in.

MR. SHEPHERD:  You lost me there.  Why...

MR. CLINTON:  The 4.31 is based on actual numbers plugged into the Board's methodology.

MR. SHEPHERD:  Okay.  So what was your actual depreciation on your fixed assets in 2008?

MR. CLINTON:  I haven't calculated that yet, but it's around -- our initial estimates are around -- it's about 4 million.  A little higher, actually, but...

MR. SHEPHERD:  That's your actual actual, not your Board methodology actual; your actual actual?

MR. CLINTON:  Actual actual.  Actual, actual, actual, actual actual, so to speak.  That's what we're projecting; right?


The Board does a little bit of the -- yes, we'll go with that.

MR. SHEPHERD:  Well, no, no.  No, no, we won't go with that.  We'll try to track it down.  So there's a difference between what you say is the depreciation for the Board's purposes and the depreciation for your own financial statement purposes; right?

MR. CLINTON:  There will be a minor difference, yes.

MR. SHEPHERD:  It's not a lot of money?

MR. CLINTON:  I don't know.  I haven't done them yet, Jay.

MR. SHEPHERD:  Okay.  So your year end is December 31st?

MR. CLINTON:  Mm-hmm.

MR. SHEPHERD:  You don't have financial statements yet?

MR. CLINTON:  I had to remove all my staff that were working on year end to answer your interrogatories.  Sorry.

MR. SHEPHERD:  When do you expect to have your financial statements?

MR. CLINTON:  You know, it depends if we settle this afternoon or not.  We could probably get something done in the next two weeks.

MR. SHEPHERD:  I guess presumably your board of directors is saying, Where's the financials; right?  It's late.

MR. CLINTON:  Our board of directors has been told that we had to divert staff to this process over doing the year end.

MR. SHEPHERD:  So they haven't set a deadline for you?

MR. CLINTON:  Usually we try to have them to them, you know, by the end of Aprilish, so we can get them into the Ontario Energy Board, as well.

MR. SHEPHERD:  Okay.  Let me just continue on Exhibit 1.  This number of 239,949 for property and capital taxes, that's your actual?

MR. CLINTON:  It contains actual property taxes.  We haven't done the tax return yet, so it's a close approximation of the capital tax.  We can reasonably estimate capital tax within a few thousand dollars, so...

MR. SHEPHERD:  Okay.  So if there's any variance, it's not going to be material, okay.


And the interest expense, now this number -- this interest expense number, 1.7 million, is that what you actually paid in interest in 2008?

MR. CLINTON:  That was Mr. Aiken's calculation of our interest expense based on the formula for the revenue requirement.

MR. SHEPHERD:  You don't know what your actual payment for interest was?

MR. CLINTON:  Our actual payment was a little less than that.

MR. SHEPHERD:  Do you know what the number was?

MR. CLINTON:  I can calculate it for you a little later, if you'd like.

MR. SHEPHERD:  Could you do that?

MR. CLINTON:  Take that as an undertaking?

MR. SHEPHERD:  Please.  That's to calculate the --

MS. COCHRANE:  Undertaking JT.2.

MR. SHEPHERD:  That's to calculate the actual interest expense for 2008.
Undertaking No. JT.2:  To calculate the actual interest expense for 2008.

MS. COCHRANE:  What is --

MR. SHEPHERD:  Sorry, to calculate the actual interest expense for 2008.

I'm just looking at this total costs and expense figure.  I take it you would -- it's your view that it should go up by $150,000, or so, because the depreciation is understated; right?

MR. CLINTON:  Jay, I'm not fully understanding what you're getting at.

MR. SHEPHERD:  You've got a number here -- sorry, Energy Probe has a number here for total costs and expenses, 10,978,254, but that at least is understated by the depreciation and amortization number, which is 3,998,000, and you've said it's actually 4,131,000; right?

MR. CLINTON:  Mm-hmm.

MR. SHEPHERD:  So we would have to increase it by that much, which is about $133,000; right?

MR. CLINTON:  Okay.

MR. SHEPHERD:  Now, what about this 338,000?  Is that a correct adjustment there?

MR. CLINTON:  That adjustment was based on certain capital expenditures, being -- the largest one would be the cap-ex for vehicles for the year.  We had budgeted, if memory serves, about $843,000.  I think our actual spend is closer to 758.  We didn't get a chance to purchase a dump truck in the year that we had budgeted for, so that number will come down a wee tad.

MR. SHEPHERD:  You're talking about coming down by 30 or $40,000?

MR. CLINTON:  Probably -- I could give you the math, but probably about 10,000.

MR. SHEPHERD:  Okay.

MR. CLINTON:  Yes.

MR. SHEPHERD:  So then if I look at this number of 10,978, tell me if I'm correct that something in the order of 11,150 is pretty close?

MR. CLINTON:  Are you referring to being based on actual results for 2008?

MR. SHEPHERD:  Actual, yes.

MR. CLINTON:  It would be.  It doesn't contain certain costs that we had budgeted for, but, yes.

MR. SHEPHERD:  No, but it doesn't contain all the costs you spent?

MR. CLINTON:  Yes.

MR. SHEPHERD:  Okay.

MR. CLINTON:  The actual, physical cash dollars out of the organization.

MR. SHEPHERD:  Okay.  The next figure here is 1264334 for income tax.  The obvious question to me is:  Have you done your tax return?  I guess the answer is:  If you don't have your statements, you haven't done your tax return; right?

MR. CLINTON:  Correct.

MR. SHEPHERD:  But presumably you've done a forecast of your income tax expense recently, because this is the sort of thing that you have to do within two months of the year end in order to make your tax payment; right?

MR. CLINTON:  I usually just -- to make sure that we make sure our tax payment is correct, I try to get a guesstimate by March 31st.

And I would say -- if you're asking me, Is the 1.2 or the 1.4 right, I would say right now my provision is 1.5 plus, because we have a CCA output.

MR. SHEPHERD:  Sorry, you have a what?

MR. CLINTON:  As calculated below, we have a CCA output, so I always try and make sure, to be prudent, that I don't get charged with taxes from the Ministry of Finance, that I paid about 1.5 and change in instalments.

MR. SHEPHERD:  So you'd rather have a refund than an amount to pay later?

MR. CLINTON:  I'd rather err on the side of caution and be prudent.  So, yes.

MR. SHEPHERD:  Okay.  What do you actually expect your taxes to be?  Do you know that yet or do you have a -- can you give us a rough idea?

MR. CLINTON:  You know, I hate to hazard a guess right now, because it wouldn't be fair to everybody.  I predict that it will be about 1.4, 1.5, 1.6.

MR. SHEPHERD:  And the reason for that is because the CCA numbers that Energy Probe has used overstate the amount of the CCA that you'll actually get?

MR. CLINTON:  That's an incorrect statement.

MR. SHEPHERD:  And Energy Probe has estimated your CCA, based on your actual spending, at 3,656,000, which of course is less than your depreciation amount, right, which is the differential you're talking about, which increases your effective tax rate?

MR. CLINTON:  Yes.

MR. SHEPHERD:  And you're suggesting that that 3,656,000 is too high?

MR. CLINTON:  I'd have to see it all out on pieces of paper, but if you're asking me, again, Do you think the number of 1.2 is reasonable, or 1.4 -- is that what you're trying to ask me?

MR. SHEPHERD:  Well, no.  I guess here's my concern.  There's really two main variables that could affect that income tax provision.  One is:  What is your accounting income?  The other is the CCA uplift or downlift.

And if the CCA number that Mr. Aiken is using is roughly right, then that would mean that you must be making an additional half-million dollars of income in 2008 to have a higher tax provision.  That's what I don't understand.

MR. CLINTON:  I need to actually discuss with Mr. Aiken -- numbers of taxes with Mr. Aiken, because I didn't get a chance to finish that discussion earlier.

MR. SHEPHERD:  All right.  I'll leave that, then.

Then I want to turn to your answers to Board Staff supplemental interrogatories.  I'm going to try to finish by 12:00, if I can, but I don't know whether I can, and as Board Staff may be aware, there is a conference call on another matter that most of us will be in at 12 o'clock in the ADR room.

MS. COCHRANE:  (Inaudible)


MR. SHEPHERD:  Never mind.  Okay.  well, then I don't have to finish by 12:00.  Let's start with...

UNKNOWN SPEAKER:  (Inaudible)


MR. SHEPHERD:  But you would prefer if I did, anyway.

Let's start with Board Staff No. 39.  In your answer to Board Staff 39, you've talked about the load decrease in your GS over 50 class.  And that will potentially have other impacts on your operations in 2009; right?  You're expecting that?

MR. FERGUSON:  Paul Ferguson.  Could you repeat that, please, Mr. Shepherd?

MR. SHEPHERD:  Yes, sure.  Sorry.  You're going to have a substantial load decrease in your GS over 50 class in 2009, and the same thing that is causing that is also causing people to be laid off, and stuff like that.


And, as a result, you're going to have a ripple effect throughout your operations, both in terms of revenues, in terms of bad debt expense, collections costs, et cetera; right?

MR. FERGUSON:  I would agree, yes.

MR. SHEPHERD:  Do you have estimates of what that's going to be?

MR. FERGUSON:  We have not had any estimates that you could use reliably.

MR. SHEPHERD:  And did you see any of the impact of that in 2008, before the end of 2008, in any measurable sense?  I mean, obviously there was some impact, but did you see any measurable impact?

MR. FERGUSON:  (Inaudible)  This is only a suspicion, because we did an actual comparison at the end of August, which was pretty much on par with our projections (inaudible).  There can obviously be other factors that (inaudible) However I do feel (inaudible)

MR. SHEPHERD:  In 2004?

MR. FERGUSON:  (Inaudible) distribution revenue received (inaudible).


MR. SHEPHERD:  Now, we're in sort of an unusual situation, because we're looking at 2008 and it's already done, so I'm asking sort of forward-thinking questions, and I apologize for that, but we might as well.

One of the things that utilities do when that happens is that they respond operationally with belt-tightening activities and things like that.  Do you have a plan to respond to a downturn in revenues with belt tightening?

MR. FERGUSON:  Typically -- Paul Ferguson.

Typically, if there's a downturn, in our case what will happen is field activity will decrease.  I think to the extent that maybe you aren't constructing more plan as much, if there's maybe less stress on equipment so that there's reduced maintenance, and you're saying the revenue reduces, so what reduces internally on expenses.

So, typically, what we have done -- this isn't the first economic downturn I've seen.  It's probably the strangest, but certainly not the first.  Typically, we staff the utility to a minimum level.  We don't have a lot of staff, and then we contract additional work.


What this will cause is a contract -- or a reduction in contract help for the utility, should the recession continue or get deeper.

But what we always have done, and continue to do, is simply maintain a core staff for the essential work.

MR. SHEPHERD:  Often companies in this sort of situation, particularly in such a severe downturn as this one appears to be, will do things like cutting back on overtime, maybe freezing salaries, things like that.

Are you doing any of that?

MR. TAYLOR:  Hold a second.  if I could just interrupt.  Andrew Taylor.

It's my understanding that the purpose of today's technical conference is to get clarification on the interrogatories already asked.

I see that you're basing this, Jay, on impact of current economic situation, and that would be on a forecast.  But now what we're talking about is the economic situation based on internal costs, which I think is going beyond the scope of Board Staff Interrogatory 39.

So I don't know.  This discussion I think would be probably more appropriate for a settlement negotiation than, you know, a technical conference, especially since the costs now, the 2008 costs that we're talking about, they are what they are; right?

So I think we're talking about belt-tightening going forward in 2009, which I don't see as being relevant.

MR. SHEPHERD:  All right.  Sorry, I was just trying to be helpful.  I thought this would help the discussions later.  If you don't want to talk about it, that's fine.

I'm turning, then, to Board Staff Interrogatory No. 40.  And on page 4 of that, you have columns headed up "2008 test".  So my question is:  Is this actual or is this forecast, or a combination, these numbers?

MR. CLINTON:  That was resubmitted from the original round of IRs.

MR. SHEPHERD:  So this is as filed, the forecast numbers?

MR. CLINTON:  Yes.  I'm double checking it.  Yes.

MR. SHEPHERD:  Now let's go over to Board Staff Interrogatory No. 42 and page 8 of the responses.

So I take it that this column "2008 test" here is also forecast now on an as-filed basis?

MR. CLINTON:  This, again, is a response from our original round of IRs where we just actually made it so that people didn't have cut off columns.

MR. SHEPHERD:  Then let's go to Board Staff No. 44C.  This is on pages 11 through 14 of your response.

And these appear to be actuals; is that right?

MR. CLINTON:  No, that's incorrect.

MR. SHEPHERD:  Okay.  So then they're not your forecast, right, because your forecast was 4,337,000 and this totals 3,976,000?  So what are these, exactly?

MR. CLINTON:  This is using just a straight-line depreciation as requested by the Board or -- I think it was the Board in the original interrogatories.

MR. SHEPHERD:  So this is not your depreciation.  This is based on a different set of amortization rates?

MR. CLINTON:  That is based on the methodology for straight-line depreciation, as requested in the original IRs.

MR. SHEPHERD:  Okay.  I'm sorry, I'm trying to understand this, because the question says, Please -- basically, Please calculate this as required by the EDR Handbook.

And so that's what you did; right?

MR. WEIR:  Dave Weir.  Yes.  That's as per the EDR Handbook, yes.

MR. SHEPHERD:  So then to the extent that there's any difference between this and what you filed for, it's because you're not doing things the way the EDR Handbook says you should?

MR. CLINTON:  That's incorrect.  We are doing things the way the EDR Handbook says we should do things.

MR. SHEPHERD:  Well, then what's -- how is there a difference in the EDR Handbook methodology and your number?

MR. CLINTON:  We were conforming to the EDR Handbook to reflect actual end-of-life assets.

MR. SHEPHERD:  Can you help me?  Can you help me to understand this difference?

MR. CLINTON:  As noted on page 14 of 29 of the supplemental --

MR. SHEPHERD:  Yes.

MR. CLINTON:  -- we did a review.  We found that certain assets were being under-amortized between 1983 and 1990.  As a result, we, the applicant, have adjusted the depreciation rates to those consistent in the EDR Handbook to better reflect the actual life expectancy and consistent regulatory treatment.

That's all I can say.

MR. SHEPHERD:  I don't understand that.

MR. CLINTON:  Maybe we'll talk about it a little later, if you'd like.

MR. SHEPHERD:  No, I would actually like to get an explanation on the record that I can understand.

MR. CLINTON:  Well, just refer to page 14 of 29.  Our explanation is written there.

MR. WEIR:  Dave Weir.  Jay, the assets in question were under-depreciated for a long period of time, and what that meant was -- this actually came out in an accounting conversion.  What that meant was that there were assets on our books that were being depreciated over a long period of time; therefore, there hadn't been enough depreciation calculated on them.

We changed the balance that was left on those assets to end the depreciation period after 25 years.  What that did was accelerated the depreciation through the period, bringing them to their 25-year life, at which time the net book value would be zero.

MR. SHEPHERD:  And that difference is $400,000 in 2008?

MR. WEIR:  It's not quite that much, no.  The difference is less than that.  I don't know the exact number.  The difference between the -- I'm thinking here, and I don't know.  I'm going to say about 200-and-something, but I'm not -- I can't --

MR. SHEPHERD:  So you're charging 200-and-something thousand more in depreciation this year than the handbook provides, because you're catching up from previous years?

MR. WEIR:  That is correct, yes.

MR. SHEPHERD:  Why didn't you do this as a prior-period adjustment?  If you under-depreciated, the normal accounting rule would be to have a prior period adjustment to get your undepreciated capital cost to the correct number, because it applies to a previous period; right?

MR. WEIR:  I should defer to Iaian here.  I will give my quick thoughts on that.  This just came to light as a result of the IR queries, and we only really just found out about it.  The financial system automatically takes depreciation based on the parameters you feed it, and when it was set up, these assets were set up as a 25-year asset, but had previously been amortized at a 30-year life.  So the system itself made the adjustment.

So we weren't aware of this until we analyzed -- remember, we had something less than 25 years on a couple of assets.  That's when we became aware of it, Why did this happen?  So we went back and looked, and that was the result.

MR. SHEPHERD:  But I guess what I'm trying to understand is the accounting decision you made, because, I mean, whatever your financial system does is irrelevant.

You actually have to approve your statements, and I guess what I'm trying to get at is:  If you got assets which it looks like there's a couple of million dollars too much in rate base because you under-depreciated, why didn't you just reduce the rate base by a couple of million dollars, so that your prior periods were then correct and your depreciation going forward was correct?

MR. WEIR:  Dave Weir.  When we submitted, we weren't aware of it.  It's only come to light since then.

MR. SHEPHERD:  Okay.  So then I wonder if you can undertake to provide the amount by which the undepreciated capital costs for accounting purposes is -- the unamortized cost for accounting purposes is -- was too high at the end of -- at the beginning of 2008, and the effect on depreciation of this change for 2008?  And could you split it up by class or asset?

MR. WEIR:  There's only two classes impacted.

MR. SHEPHERD:  So could you undertake to provide that information?

MR. WEIR:  Yes.

MS. COCHRANE:  That will be Undertaking JT.3.  Do you need to clarify it?

MR. SHEPHERD:  Was that clear already?

MS. COCHRANE:  The reporter would like it stated on the record.

MR. SHEPHERD:  Calculate the amount by which the unamortized cost of the fixed assets affected was too high as of the beginning of 2008 and the impact on your depreciation expense of the previous under-depreciation and split it up by asset account.
Undertaking No. JT.3:  To calculate the amount by which the unamortized cost of the fixed assets affected was too high as of the beginning of 2008; and the impact on depreciation expense of the previous under-depreciation, split up by asset account.

MR. SHEPHERD:  Still on that interrogatory, I'm looking at page 13, and what this appears to say is that there's no depreciation on contributed capital.

Now, I'm not an accountant, but I would have thought that you depreciate both sides of the equation, and this looks like there's no depreciated amount for contributed capital.

MR. CLINTON:  Jay, could you turn to page 14, the top right-hand corner, please?

MR. SHEPHERD:  Sure.

MR. CLINTON:  Maybe I didn't cut and paste correctly.

MR. SHEPHERD:  No, that's not -- no, I understand what I'm -- what's there.  What I don't understand is the less -- fully depreciated line on the previous page.

MR. WEIR:  Dave Weir.  There just isn't any fully depreciated contributed capital at this point.

MR. SHEPHERD:  It's all too recent?

MR. WEIR:  It's all too recent, yes.  It started in 2002.

MR. SHEPHERD:  So it's just an accidental anomaly?

MR. WEIR:  It's just we use the same format for every account, including that one.

MR. SHEPHERD:  Okay.  I wonder if I could take you to Board Staff Interrogatory No. 46?  And I'm looking at D, which is on page 16.  There's a pair of columns that says "2008 Actual"; do you see that?

MR. WEIR:  Yes.

MR. SHEPHERD:  So let me start with the left-hand column, "Year End GL Value".  This is the -- if you did a trial balance at the end of 2008, these are the numbers that would actually appear on your statement; is that right?

MR. WEIR:  Dave Weir.  That is correct.  These are from our preliminary year end trial balance.

MR. CLINTON:  Hold it.

MR. WEIR:  Excuse me.

MR. CLINTON:  Wait a second.

MR. WEIR:  I'm sorry, Jay.  Just to clarify, you're talking about which column?

MR. SHEPHERD:  "Year End GL Balance 2008 Actual".

MR. CLINTON:  Under the 2008 actual?

MR. SHEPHERD:  Yes.

MR. CLINTON:  Sorry, I thought you were referring to the as-submitted.

MR. SHEPHERD:  No.  Now, two things about that.  First of all, that doesn't include anything that is not within this distribution franchise; right?  So it doesn't include Tay, for example.  It doesn't include unregulated activities?

MR. CLINTON:  Strictly Newmarket area distribution assets only.

MR. SHEPHERD:  So you've made some adjustments to your GL numbers to get to these numbers?

MR. CLINTON:  I'm not sure what you're getting at.

MR. SHEPHERD:  Well, your GL would include Tay; right?

MR. CLINTON:  GL is made -- we keep separate companies, so therefore keep a separate GL --

MR. SHEPHERD:  A separate general ledger for --

MR. CLINTON:  If that's okay.

MR. SHEPHERD:  Then the second question about that column is:  Typically you have a bunch of adjustments to your end-of-year GL value for capital assets, because you capital some overheads and you get something that the auditors say is the wrong amount, et cetera, et cetera.

None of the adjustments are in these numbers yet, is that right, your normal year end accounting adjustments?

MR. CLINTON:  I'm hoping there's no more adjustments to these numbers, but I've been wrong before.

MR. SHEPHERD:  Well, have the auditors been in to look at it?

MR. CLINTON:  We've only had a preliminary audit so far, so we haven't had the full audit to finish off the year end.

MR. SHEPHERD:  But all your routine adjustments have already been made?

MR. CLINTON:  I'm hoping they have.  If you're asking me, Are these really good numbers -- is that what you're asking?

MR. SHEPHERD:  Yes.

MR. CLINTON:  I'm hoping they are.

MR. SHEPHERD:  Okay.  Then the other column is "Average Additions Year End Value".  Now, I probably should understand what that means, but I don't, so can you help me?

MR. CLINTON:  This was actually me trying to further clarify the description to make it easy for everybody to understand.  Sorry if it didn't come across that way.

We were trying to actually compare the original submission with our year end values to, again, under the Board's methodology of a half year, how that would actually look.  So that's what that column is.

MR. SHEPHERD:  So this sort of applying a half-year rule?

MR. CLINTON:  Yes.

MR. SHEPHERD:  Ah.  So this is intended to be a proxy for rate base?  A calculation of rate base, actually.  If you did rate base on an actual basis, you expect this is your actual rate base as of the end of the year?

MR. CLINTON:  This would be based on the Board's half-year methodology.

MR. SHEPHERD:  Half-year being average the opening and closing balances?

MR. CLINTON:  However they calculate average, yes.

MR. SHEPHERD:  Okay.  Now, you don't do that when you calculate depreciation.  You don't average --

MR. CLINTON:  No.

MR. SHEPHERD:  -- opening and closing?

MR. CLINTON:  I think, as stated an earlier IRs, we calculate depreciation based on the month end service.

MR. SHEPHERD:  So there is, again, another discrepancy between what the Board would calculate.  That's part of that 400,000.  Some of it is --

MR. CLINTON:  Some of it is that difference, yes.

MR. SHEPHERD:  -- what you were talking about and some of it is that difference?

MR. CLINTON:  Yes.

MR. SHEPHERD:  So do you use the average-of-the-monthly-averages approach to rate base internally?

MR. CLINTON:  Could you explain that in greater detail for me, please?

MR. SHEPHERD:  There's a -- the conventional method of doing rate base, the old method, is you take the average balance in each month, and then you average those averages for the year so that you pick up basically whenever something was brought in service.  Do you do that?

MR. CLINTON:  For rate base or for --

MR. SHEPHERD:  For depreciation.

MR. CLINTON:  For rate base depreciation?

MR. SHEPHERD:  Yes.

MR. CLINTON:  I only worry about rate base when we have to come in here for a cost-of-service allocation.

MR. SHEPHERD:  Okay.  So then I take it if -- this number, 53.55 million, that's a correct rate base, using the Board's methodology as of December 31st, 2008 -- no, sorry, for the year 2008; is that right?

MR. CLINTON:  If we -- Iaian Clinton from Newmarket Hydro.  If we understand what you're asking correctly, yes.

MR. SHEPHERD:  And that -- remember that adjustment that you have for -- well, 338,937?  That's already in there, isn't it, in that 53.55 million?

MR. CLINTON:  If you're referring to the 40 percent of the vehicle depreciation that goes to the clearing account and allocated by vehicles, yes, 40 percent would be in there.

MR. SHEPHERD:  Okay.  Now, let me turn to -- I have two more questions.  First, let me go to page 20 of Board Staff interrogatory responses.  There is a column in the middle of page 20, "2008 Actual Volumes".  These are load; right?

MR. CLINTON:  Sorry, Jay, what are you referring to, the consumption historical amounts, the dark green headings?

MR. SHEPHERD:  Mine doesn't have any colour, but yes.

MR. CLINTON:  Sorry.  I'm privileged.  I have colour.

MR. SHEPHERD:  The intervenor groups can't afford colour diagrams.

MR. CLINTON:  Sorry, that's the one we're talking about; correct?

MR. SHEPHERD:  Yes.

MR. CLINTON:  Okay.

MR. SHEPHERD:  So there's a column "2008 Actual".  That's your actual volumes for the year?

MR. CLINTON:  Yes, it is.

MR. SHEPHERD:  Those are not weather-normalized?

MR. CLINTON:  Those are our actual consumption for 2008.

MR. SHEPHERD:  So this is what Mr. Weir was referring to earlier, that you saw some impact already in Q4 of the downturn in the economy?

MR. WEIR:  Dave Weir.  Yes, that's correct.

MR. SHEPHERD:  All right.  And then go back two pages to page 18.  And here you have operating costs by category, and you're comparing your as-filed -- the 2008 test is as filed, right, that column?

MR. CLINTON:  If you're referring to the 2008 test is from the original submission, yes, it is.

MR. SHEPHERD:  Okay.  And 2008 actual is what you really spent in the year?

MR. CLINTON:  The physical dollars and cash outflow from the organization, yes.

MR. SHEPHERD:  So you expect that your financial statements will ultimately have that number in them?

MR. CLINTON:  I'm hoping.  I've been wrong before.

MR. SHEPHERD:  Okay.  So I wonder if you can just tell us -- I'm going to go through all four of the top lines, and I wonder if you could just tell us, first, the $125,000 overspending in O&M compared to budget, can you briefly explain what that was?

MR. CLINTON:  Could you go to page 19 of 29, please?

MR. SHEPHERD:  Yes.

MR. CLINTON:  That's where basically the overages were.

MR. SHEPHERD:  Okay.  Sorry.

MR. CLINTON:  It's okay.  I was just trying to be helpful when I put this in.

MR. SHEPHERD:  Yes.

MR. CLINTON:  Would you like me to read them for the record?

MR. SHEPHERD:  No, no.  Let me just...  I read them.


So that 125,000, that sounds like -- see, here's what I don't understand.  You say, for example, there were additional locate expenses in 2008, but you don't explain why that was.

Why would there be additional locate expenses?  That's a lot of money.

MR. FERGUSON:  I agree.  I can't explain it.  That is -- locates are driven by others, telecommunication companies, gas, municipalities for water.  We respond to those locates, safety wise, and the ESA rules say we will provide locates of our plant within a certain period of time.

So I can't -- it could be that one or more telecommunications companies were doing extra work in Newmarket this past year.  I can't speak to that, though.

MR. SHEPHERD:  It's just the luck of the draw, maybe, okay.

The reason I guess I was confused is you talk about the predicted additional line work, which is something that was already in your application, right, that you expected to spend more on line work in the test year.  So you already had your line staff assigned to that.

You get all these additional locates and you have to outsource them; is that right?

MR. FERGUSON:  I'm sorry, I -- could you repeat that?

MR. SHEPHERD:  Yes, sorry.  You already had allocated your linemen to do this line work that was already planned for 2008, and then you got more locates than you expect, so you outsourced that extra work?

MR. FERGUSON:  Paul Ferguson.  That's correct.

MR. SHEPHERD:  Okay.  Then you talk about short-term disabilities that meant you had to basically bring back some retired staff members.  That problem is now solved?  That was a one-time cost?

MR. CLINTON:  We hope it's solved.  Disabilities can re-occur.

MR. SHEPHERD:  Right, but these are short-term disabilities, so typically they are done, they're done.

MR. CLINTON:  I'm hoping that we won't see any more of them, but...

MR. SHEPHERD:  Okay.  You also talk about the Cambrian College students that you hired.  What kind of extra workload is this that you're talking about?

MR. FERGUSON:  Primarily to help with the capital program.  As you know, we -- sorry, Paul Ferguson.  We -- with the Holland Junction, last year and again this year, there's a very aggressive capital program.  It's the ideal -- sorry.  This is OM&A.

We use them on that, as well, but we are hiring additional -- we're working with Cambrian College bringing in their students as part of training, because of the anticipated shortfall in linemen over time, due to retirements and such.

MR. SHEPHERD:  Okay, but I guess what I'm trying to understand is:  Is this part of your aging workforce plan, or is it because you had extra work to do?

MR. FERGUSON:  Primarily the first.

MR. SHEPHERD:  Okay.  And so these students that you hired, you brought them in to put up new poles and things like that; right?

MR. FERGUSON:  And work with the crews on various jobs.  They weren't assigned to just one particular task.

MR. SHEPHERD:  And how many students are we talking about?

MR. FERGUSON:  Two.

MR. SHEPHERD:  So out of the 125, that's still only about 15 or 20 of it?

MR. CLINTON:  I'd have to do the math, but you're in the ballpark.  A little more.

MR. SHEPHERD:  Then the other big one is the 308,000 reduction in cost in billing and collecting relative to
your forecast.  And your explanation here the MDMR.


I guess what you're saying is you had $300,000 in your budget to work on the MDMR and it wasn't ready?

MR. CLINTON:  No.

MR. SHEPHERD:  No?  Okay.  Help me understand.

MR. CLINTON:  I'll start off, but Paul will probably finish it.  But in the original budget submission, we expected the MDMR to be up and running and there would be an extra cost incurred with that.

MR. SHEPHERD:  Do you know what the number was?

MR. CLINTON:  I can't remember off the top.  It's somewhere in the submission.  We'd have to go look for it and pull it out.  It's about 200,000 plus.  At one point in time, I think I wrote down -- you'll forgive me if I can't remember off the top of my head.

MR. SHEPHERD:  That's fine.

MR. CLINTON:  The MDMR, as we all know, is still currently expected to be working shortly.

MR. SHEPHERD:  Meaning that you expect to spend the same money in 2009 --

MR. CLINTON:  In '09, yes.

MR. SHEPHERD:  -- 2010 --

MR. CLINTON:  And 2011.  It's going to come.  It's a question of when the provincial MDMR is fully functional.

MR. SHEPHERD:  And this is also a one-time cost?

MR. CLINTON:  No.

MR. SHEPHERD:  This is a transition cost or is this --

MR. CLINTON:  No, annual operating cost.

MR. SHEPHERD:  This is your annual operating cost, okay.

MR. CLINTON:  Paul can speak more to the MDMR.

MR. SHEPHERD: 
Then, finally, you had a small increase in your administration expense, and the only one I wonder about is staff did not get an opportunity to use their vacation allotment.  I don't understand this.  Help me understand.

MR. CLINTON:  We're a little busy these -- it's Iaian Clinton from Newmarket, Jay.

We're a little busy.  We don't get a chance to take our vacation.  We can't carry it forward.  As Paul alluded to earlier, we have had a very busy last two years.

MR. SHEPHERD:  Yes, I understand.

MR. CLINTON:  We can't take time off.  We have so many different initiatives.  So we don't get our allocation.

MR. SHEPHERD:  So rather than backfilling people when they go away on vacation and having that cost, you pay the person an amount in lieu of their vacation?

MR. CLINTON:  Yes.  Can you backfill the president?  Can you backfill the work we're doing on the IESO?  No.  So we just have had to not take vacation.

MR. SHEPHERD:  And the amounts you pay are equal to the salary for the vacation period?

MR. CLINTON:  Yes.  It would be like your dollar for dollar.

MR. SHEPHERD:  So if somebody has a four-week vacation, they basically get an extra month's salary during the year if they don't take the vacation?

MR. CLINTON:  If -- theoretically, if you didn't take any vacation and we had to pay you out those days, yes, you would get an extra...  We would rather take our vacation.  I'd rather spend time with my triplets, because they're growing up too fast.

MR. SHEPHERD:  Those are my questions.  Thank you very much.

MS. COCHRANE:  I don't know if Staff had any -- did all the intervenors get their turn?

And I know Staff had some questions, but at some point I'll (inaudible).


UNKNOWN SPEAKER:  (inaudible)

UNKNOWN SPEAKER:  (inaudible)

MS. COCHRANE:  All of you, what are we looking at?

UNKNOWN SPEAKER:  (inaudible)

MS. COCHRANE:  So how about we forge ahead, then break for lunch, and then come back (inaudible).  I'll turn it over to Staff, then.
Questions by Mr. Shields:

MR. SHIELDS:  Stephen Shields.  I've got four brief clarifications, please, regarding some of the forecasting questions.

The first one refers to your reply to VECC supplemental question 45B.  In that, you show the customer count for USL to be 75 since 2007.  If you would compare that, please, then, to the response to Board Staff Supplemental No. 49, where for 2007 the cell is vacant, suggesting that the value is zero?

MR. WEIR:  Dave Weir, Newmarket.  This is a new rate class for us.  We don't currently have a USL rate class.  They are, at this point in time, in 2007 actuals, in fact, part of our GS less than 50 class.

So we're trying to pull them out and set up the new rate class for them.  There's 75.  It's a fixed number, because we meter all USLs at this -- they're not unmetered if we meter them.  USL-type services is where other LDCs traditionally don't meter them.  We do.

So the number has been in and around 75 for quite some time.

MR. SHIELDS:  Stephen Shields.  If I can be clear, then, the response that you had given to VECC No. 45, which shows the various numbers - 24,069; 2,599; 75; 374 - those are indeed the correct numbers?

MR. WEIR:  Yes, and, again -- Dave Weir.  Yes, and, again, 2007, we've just shown a likeness, in fact, because they were really in the GS less than 50 class, which is currently -- in 2007, it would be the total of the two, so it would be 2,674 in that case.

We're just trying to show apples and apples in the various columns in this one.

MR. SHIELDS:  Okay, thank you.

My second question is in your response to VECC Supplemental No. 52.  And that response begins:
"The reply to OEB No. 30 was in error."

I'm not clear if the text that follows is indeed the correction.  In other words, is that -- is that what the reply to OEB No. 30 should have read?

MR. CLINTON:  In the original interrogatories - it's Iaian Clinton from Newmarket - we had them inverted.  So we made an error in our response.  We are just correcting that error here.

MR. SHIELDS:  So if I understand this text is the correct response?

MR. CLINTON:  Yes.

MR. SHIELDS:  Your reply to Board Staff Supplemental No. 49, you present customer count in two ways, year end actuals and average for year.

Can you clarify, please, which of these two measures you have historically used to calculate the monthly service charge?

MR. WEIR:  Dave Weir.  Would you please clarify which IR we're looking at?

MR. SHIELDS:  Yes.  So it's Board Staff Supplemental No. 49.

MR. CLINTON:  Page 21 of 29; am I correct?

MR. SHIELDS:  Page 20 and 21.

MR. CLINTON:  
Thank you.

MR. SHIELDS:  And here there are two measures used.  One is year end actual and the other is average for year.

And so my question is:  Which measure have you historically used when calculating the monthly service charge?

MR. CLINTON:  Are you referring to on a per-month basis, or as a forecast estimator?

MR. SHIELDS:  Normally it would be as a forecast estimator.

MR. CLINTON:  I've got it.  Thank you.


I'm sorry, my mic was off.

MS. COCHRANE:  There's a button that --

MR. CLINTON:  Sorry, I just forgot to push the button.

I have no idea what I said.

MS. COCHRANE:  Perhaps we can have the question restated and the answer restated.

MR. SHIELDS:  Okay.  So my question is:  In the evidence in question 49, you have given the customer count two ways.  You have given it by year end actual and average for year.

The first part of my question is:  Which of these two measures have you historically used when calculating the monthly service charge?

MR. WEIR:  Dave Weir.  The monthly service charge falls out of various rate models, and I think Lee can probably correct me on this one, but I think the calculation that pertains to our fixed fee actually goes back to the original Rudd model.


They have been tweaked with the RAM models through 2002, '3, '4.  Our last rate approval was 2005, which used a RAM model as opposed to the EDR model in 2006, which recalculated those numbers.

And I'm asking a question of Lee:  Is that your recollection?

MR. HARMER:  I think the simple answer is -- as an example, in residential class, you show year end actual of 24,667.  In the year end average you show 24,368.

When you determine the monthly service charge, what number do you use for the determination of that number?

MR. WEIR:  Well, the monthly service charge comes right from our general ledger.

MR. SHIELDS:  So are you using --

MR. WEIR:  So it would be a likeness of actual, I guess is the answer to the question.  I thought you were asking the fee itself, but -- is it for rate-setting purposes you're asking, or for what is --

MR. SHIELDS:  I am asking the question -- Stephen Shields.  I'm asking the question for rate-setting purposes.  And maybe the question sounds more complicated than intended.  I'm simply presented the customer count in two different ways, two different numbers, and I'm simply wondering which of these two numbers will you use when you're setting rates.


MR. WEIR:  Will we use, okay.


MR. SHIELDS:  Well, did you use.

MR. WEIR:  I would like to say average, and I think it would be -- the real answer, though, is we used the cost allocation model to look at the output of it and try and have our fixed charge -- monthly charges in the ranges that the CA model provided.


So in answer to the question, I don't know how the model calculated those.  It had the year end actual customer counts input to it.  So I don't have a clear answer to it.  It's kind of as clear as mud.

MR. CLINTON:  Would it help if I say average?

MR. SHIELDS:  If that's a correct answer.

MR. CLINTON:  It has a 50/50 chance of being right.  We think it was average.

MR. AIKEN:  Can I just jump in?  Stephen, you might want to take a look at page 90.  Randy Aiken.

MR. SHIELDS:  I don't have 90 with me.

MR. AIKEN:  Okay.  It's a schedule that shows how the revenues are calculated, and I believe it says average customers are used in the column there.

MR. SHIELDS:  If it says average customers are used, that answers my question.  Thank you.

My final question, then, is with response -- is with your response to Board Staff supplemental question 52B.  In the last column for 2008, the third number down, it appears to say that the 2008 retail actual load is 691,336,183  kilowatt-hours.

MR. WEIR:  That's correct.

MR. SHIELDS:  And if you turn to your reply to Board Staff Supplemental Question No. 49, then that number appears to be 683,288,465 kilowatt-hours.

Would you please reconcile those two numbers, please?

MR. WEIR:  Dave Weir.  Yes.  No. 49 refers to consumption by class based on billing amounts.  We subsequently take the total of that and calculate our unbilled revenues, and that number gets adjusted to look at, when we're looking at losses, to reflect the unbilled component of our customers' consumption, and, therefore, is always -- it would be different, I guess.

In 52, we're trying to line up our sales with our wholesale costs, so it makes that adjustment.

MR. SHIELDS:  Stephen Shields.  If I may clarify, then, the 683 number, then, includes various losses in it to come up to the 691 number?

MR. WEIR:  Yes.  There's an adjustment to bring it to --

MR. SHIELDS:  Right.  And then there's a further adjustment, I presume -- Looking at your response to 52, there's a further adjustment to then change from retail to wholesale?

MR. WEIR:  Yes.  That's the loss calculation itself, yes.

MR. SHIELDS:  Thank you.  Those are my questions.
Questions by Mr. Advani:


MR. ADVANI:  It's Suresh Advani, Board Staff.

My first question relates to loss factors, which is your response to Board Staff Supplemental 52, in 5D of 52.  A table has been provided, "Loss Factor Calculations".

This refers to our conversation yesterday.  I would just like it confirmed that the way the table is presented, the calculation for row G for TLF, which is total loss factor, which is row C divided by row F.  And if you do the math, then you don't get the numbers that are indicated on the table.

For example, in column "2003", you don't get 1.03540 and what you get is 1.03530?

MR. WEIR:  That's correct, as per our discussion.

MR. ADVANI:  As per our discussion, all right.

So would you be able to provide us with the updated numbers, please?

MR. WEIR:  Yes, I have them here.  Yes.

MR. ADVANI:  And also as a consequence of that, the second item below "TLF" in that same row G, "DLF", which is distribution loss factor, will also change, because the equation is DLF is equal to DLF divided by SFLF.  Since SFLF is held to be constant at 1.0045 and if the TLF line changes, then consequently the DLF will also change?

MR. WEIR:  Yes, that's correct.

MR. ADVANI:  Would you also please provide the updated DLFs to us?


MR. WEIR:  Yes.  I have them.  I have them here.

MR. ADVANI:  Thank you.


MR. WEIR:  Moving on in the same question, 52 --

UNKNOWN SPEAKER:  Did you want an undertaking number?

MS. COCHRANE:  Do you want the undertaking?

MR. ADVANI:  I think an undertaking would be better.

MS. COCHRANE:  That will be undertaking JT.4.  

UNKNOWN SPEAKER:  May I have a quick second?  We actually submitted that to the Board yesterday, and I think we updated it as 52D and E, and sent an e-mail out about 3:30.  We'll take an undertaking.

UNKNOWN SPEAKER:  Can confirm the fact that you provided it?  I apologize for that.

MR. ADVANI:  It's Suresh Advani.  I'm taking a look at this 3:30 version, and that row G has not changed.  It is still reading what was read in the initial presentation.  So an undertaking will be appreciated.

MS. COCHRANE:  So undertaking JT.4.  What is it again?

MR. ADVANI:  A recalculation of the total loss factor and distribution loss factor.
Undertaking No. JT.4:  To provide a recalculation of the total loss factor and distribution loss factor.

MR. ADVANI:  Suresh Advani.  I'm moving on, same question on loss factors, 5B of that question, of 52 supplemental.

The question that Board Staff had asked is:  The values of the total loss factor which were provided in response to the first round of IRs and that we just discussed, that same table -- we discussed a further evolution of the same table, which was reprovided in the second round of IRs.

So those TLF numbers, our question was that those TLF numbers did not correspond to the TLF numbers provided in the initial application, the initial application in Exhibit 9, section 9.1.4, page 152.

The TLF numbers provided in that initial application were different, and our question had been:  Please indicate which set of values are correct.


I presume the answer is the set of values which is provided in the second generation table is correct, but you can just --

MR. WEIR:  Yes, that's correct, and the one we will provide.

MR. ADVANI:  Okay.  So, hence, just to close the loop on this, the values provided in the initial application are to be disregarded?

MR. WEIR:  That's correct.

MR. ADVANI:  Thank you, sir.  I'm moving on, Suresh Advani, again.

Part C of that same question, I think again that answer, we had pointed out that in that table that you had provided in response to the first round of IRs, which was IR No. 37 in the first round, you had completed the TLF by adding the DLFs and SFLFs, and we had pointed out the correct calculation method is multiplication and not addition.

Then that, again, has been corrected, because in this new table, in the latest evolution of the table, I noticed that you have multiplication there.  So that --

MR. WEIR:  That is correct.

MR. ADVANI:  So that is fine.

Moving on to the last line on this topic, in part E, you had said -- rather, not you had said, but we had asked that -- in this table, again, you had provided a three-year average and a five-year average for the total loss factor, or TLF.

And we have asked you -- that is nice.  You have given us two averages, but which one of these do you nominate as your proposed total loss factor?

MR. WEIR:  Dave Weir --

MR. ADVANI:  We had a big discussion on the phone on this.

MR. WEIR:  Yes.

MR. ADVANI:  And if you can just formalize your answer, please?

MR. WEIR:  Dave Weir.  The calculation changes from our original submission, and I believe the new five-year number is 1.0334.  And we originally asked for the five-year value.  We have since decided that we would like to stick with the five-year value as opposed to the three.

MR. ADVANI:  So in your undertaking, when you rewrite the table, obviously these averages will all change?

MR. WEIR:  Yes, they will.

MR. ADVANI:  So maybe you can indicate on that as to which number -- which of these three- or five-year averages is your proposed number.


MR. WEIR:  Yes, absolutely.

MR. ADVANI:  Thank you for that.

Then moving on to - Suresh Advani again - to another question, which is Board Staff Supplemental 53.  The topic is deferral and variance account, and I refer to part B.

In part B, we had -- Board Staff had requested -- Board Staff is referring to filing guidelines that the Board had issued dated July 12th, 2005, et cetera, and Board Staff requested that Newmarket file supplemental disclosure information in accordance with the filing guidelines in that filing.

And in your response, it indicates "attached", but we could not find any attachment, so can you take on a --

MR. CLINTON:  We will get you the attachments, if you don't have it with it.  We...

MR. ADVANI:  You will undertake that as a...

MS. COCHRANE:  That will be undertaking JT.5.
Undertaking No. JT.5:  To provide attachment to response to Board Staff supplemental 53, part B.

MR. CLINTON:  Sorry.  If you don't have it, we will get it for you.

MR. ADVANI:  Thank you.  Then -- Suresh Advani again.

Moving on to the last question, which refers to Newmarket's response to VECC No. 43 on the subject of cost allocation model.  That's VECC No. 43, question 43.

What is being discussed there is the increase of the transformer allowance for customers GS greater than 50 from 50 cents to 70 cents, and then it says because you are -- because the revenue from GS greater than 50 will decrease because you're going to give them a larger credit, therefore rates for remaining customers will have to be increased to make up for the shortfall.

It says that, and that's fine.  Then it goes on to say, in the last sentence, that since GS less than 50 has the highest cost-to-revenue ratio -- I presume you mean revenue-to-cost ratio and not cost-to-revenue ratio, because -- I believe that's just a colloquial expression you have used, because if you mean that literally, then it will be a (inaudible) of what is normally used.

MR. WEIR:  I agree.

MR. ADVANI:  Can you confirm that you mean revenue-to-cost ratio?

MR. WEIR:  Yes, that's correct.

MR. ADVANI:  Okay, thank you.  So moving on, so then the statement then reads:  Since GS less than 50 had the highest revenue-to-cost ratio, if you will, it says:
"This approach effectively will reduce the GS less than 50 class, while increasing all other classes."

Now, please help me understand that, because --

MR. WEIR:  I think I have a typo in this one.  I am just going to double check.

MR. ADVANI:  I'm sorry?

MR. WEIR:  I think there might be a typo in this one.  I've just got to double check.

MR. ADVANI:  Because just to elaborate on that --

MR. WEIR:  I'll find the --

MR. ADVANI:  -- if you're going to pull in less revenue from greater than 50 because you're giving them a larger allowance, then you need to pull in more revenue from all other classes; and if you pull in more revenue from all other classes, that numerator is going to increase for all other classes.


Hence, the revenue-cost ratio will increase for all other classes, including GS less than 50, unless you have something else going on there.

MR. WEIR:  Yes, that is correct.  And, yes, there is something else going on.


The transformer allowance increased by -- and I believe the number is around $120,000.  So that money goes back to the GS greater than 50 class and has to be paid by all customers that -- where we provide the transformation.

What I did to allocate that 119,000 was an analysis of kilowatt-hours for customers where we're providing the transformation, and then by class, and then took the 119,000 and put it into those rate classes based on that approach.

I have the exact amount, as well.  I think it showed up in our original submission, and the largest component was the residential, because they have the largest kilowatt-hours.  The under 50 class and others also get -- and also the GS greater than 50 class gets some of it for the customers where we provide the transformation.  Is that --

MR. ADVANI:  Yes, thank you.

MR. WEIR:  Okay.

MR. ADVANI:  I'm finished.  Thank you.
Questions by Mr. Clark:

MR. CLARK:  Christie Clark, Board Staff.

I'm going to start with Board Staff Supplemental Interrogatory No. 47.  And while you're turning that up, I will just give you a little background about where the question is coming from.

I see that there are basically two paradigms for dealing with interest on customer deposits, and that's what this question is concerned about.  One is that you carry the interest in an account outside of regulation, and one is the account is included in your regulated rate base.

And in order to know if you're appropriately deducting or reducing your revenue -- or, pardon me, it's interest.  So in order to know that you are reducing your revenue requirement with this interest, I have to know if the security deposits are in the rate base.


So can you tell me, panel, whether the security deposits are in rate base or out of rate base?

MR. CLINTON:  I'm not sure I understand your question.  Are you referring to the -- say, the $4 million in deposits that we hold?  Are you saying that the $4 million is part of a rate base asset?

MR. CLARK:  I'm asking you:  Are they or are they not?

MR. CLINTON:  They're not a rate base asset.

MR. CLARK:  Okay, thank you.

If you just turn over the page to question 48, on this table to the question, you are showing the variance between actuals and your test year for 2008.

And looking at billing and collection, there's about a $308,000 variance, that you're actually spending less by $208,000 than your forecast.  And your explanation on page 19 states that it essentially is due to MDMR costs that did not materialize; is that correct?

MR. CLINTON:  Iaian Clinton for Newmarket.  That's correct.

MR. CLARK:  Thank you.

Questions by Mr. Ritchie:

MR. RITCHIE:  Keith Ritchie, Board Staff.

I just have one area of questioning, and it's dealing with the capital structure and the short-term debt component, and I'm just trying to understand Newmarket's proposal and responses to interrogatories, and, in particular, I guess the Energy Probe Supplemental Interrogatory No. 61.

And as I understand it, Newmarket-Tay's proposal is that there would be a 1.3 percent capital -- short-term component in the capital structure for rate-setting purposes.  That's your application?

MR. WEIR:  Yes, that's correct.

MR. RITCHIE:  Okay.  Now, there have been a number of interrogatories from Board Staff and from the various intervenors asking about that proposal, and I guess in the last round, Energy Probe Supplemental 61.

Basically, your response is that you refer to section 3.1 of the report of the Board on cost of capital and second generation incentive rate mechanism, and that really refers to the rebasing and to the term of the second generation IRM plan.

And I'm trying to understand how that answer relates to the transition, and the capital structure, which I specifically look at the transition, was documented in 4.1 of the Board report.

And the section 2.1.1 of the Board report talks about, again, a -- the Board's guideline as being a 4 percent short-term debt component.  So can you just help me out with this response?

MR. WEIR:  When I initially -- Dave Weir.  When I initially read that, it talked about the three-year phase-in.  And I took that to mean all components of the change, which included the short term.

And so far, that's -- I've reread it and I still feel that it should include all the components of, You're here and we've got to get to here.  And I can't see -- I still don't understand why the 4 percent would be treated differently than the balance of the model, I guess.

MR. RITCHIE:  Okay.

MR. WEIR:  And, sorry, we transition -- the idea was we did transition the 4 percent over three years, so it would be 1.3, 2.6, 4, something of that nature.

MR. RITCHIE:  Okay.  I don't want to get into -- really further into what could eventually be submissions, and that, on that.  Thank you.

MS. COCHRANE:  Are there any other questions arising out of those?
Further Questions by Mr. Shepherd:

MR. SHEPHERD:  I have one follow-up question, and it has to do with this - sorry, Jay Shepherd - this unamortized -- this under-depreciation in earlier years.

You said that these assets in 1983 were depreciated over 30 years and it should have been 25; is that right?

MR. WEIR:  Dave Weir.  I believe the response was the '80s and '90s.  It goes back --

MR. SHEPHERD:  Your answer says they were under-depreciated from 1983 to 1990, so --

MR. WEIR:  It actually does go into the early '90s.

MR. SHEPHERD:  So here's why I'm asking the question.  A 30-year am starting in 1983 would go to 2012, and if it should have been 25, then they should have been fully depreciated in 2007; am I right?

MR. WEIR:  Yes, that's correct.

MR. SHEPHERD:  So you had a balance of five years of depreciation left to collect and you hadn't collected it?  You should have finished your depreciation at the end of 2007 and you didn't, and so because you still had five years' depreciation to go, one-sixth of the cost was still in -- which would be about, what?  1.3, $1.4 million was still in your fixed assets?

MR. WEIR:  I don't know the exact amount, Jay.

MR. CLINTON:  We don't know the exact amount, but -- if you're looking at it in very simple terms, yes, but it's not that simple.  It's different spreads from those different years, and they will continue for the next few years.

MR. SHEPHERD:  But the basic conclusion I'm reaching, which is that as of the beginning of this test year, the amount that was -- had you depreciated it correctly, you would have nothing left to depreciate in 2008; is that right?

MR. CLINTON:  For certain assets, yes, but it kind of continues on.

MR. SHEPHERD:  So not all the assets came in in 1983?

MR. WEIR:  No, no.

MR. CLINTON:  They came in a range.

MR. SHEPHERD:  They came in in subsequent years?

MR. WEIR:  That's right.

MR. SHEPHERD:  I thought you said there were only two classes.

MR. WEIR:  There's --

MR. CLINTON:  Only two classes -- basically there's only two classes affected, I think is what Mr. Weir was saying, at the time.

MR. SHEPHERD:  But there were a number of assets in each class over a period of years?

MR. CLINTON:  There's more than one asset per class.

MR. SHEPHERD:  Okay, I understand.  Thank you.

MS. COCHRANE:  If there's no other --
Questions by Mr. Aiken:

MR. AIKEN:  Actually, I do.  Randy Aiken.  A quick follow-up on the depreciation expense.

This is Board Staff No. 44.  I just want to clarify that the 3.976 million shown here is based on the Board methodology applied to your forecast.  Is that -- was I following that correctly?

MR. CLINTON:  I have to look at again, Randy.  I'm sorry.

MR. AIKEN:  Yes, Board Staff 44.

MR. CLINTON:  I have to look at it.  Sorry, Randy, it's Iaian from Newmarket.

This is basically just dividing straight line by the numbers.  It's not Board methodology of the half-year rules.  It's just taking your additions and dividing it by the straight-line depreciation.

MR. AIKEN:  Okay.  Is this comparable to the methodology that you're using that produces the 4.131 million, or are they different methodologies?

MR. WEIR:  Dave Weir.  No, this is simply if everything had have been perfect, I guess.  This is the calculation for that.  If the calculation that -- or, sorry, our accounting depreciation is 4,131,000, which compares to the 3.976.  Does that answer your question?

MR. AIKEN:  No.  The problem I'm having is that your capital expenditures are significantly lower than what they were forecast to be, and yet I'm seeing this original number of 3.976 million that appears to use a methodology that the Board has said is appropriate.

So I'm trying to figure out:  How can a depreciation expense go up, when the capital expenditures have actually gone down, between forecast and actual?

MR. WEIR:  Dave Weir.  This chart is actually based on the original submitted numbers and was only included in this round 2 of IRs because -- and I think it was the OEB had a problem with the printing of the original chart that was included in round 1 of the IRs.  The right-hand component of it wasn't printed --

MR. AIKEN:  No, I understand that, Dave.  I understand this is based on your original evidence.

MR. WEIR:  Yes.

MR. AIKEN:  And the difference between the 4.3 million in your original evidence --

MR. WEIR:  And this.

MR. AIKEN: -- and this is the change in the methodology?

MR. WEIR:  Yes, Randy, that's correct.

MR. AIKEN:  Okay.  So if you use this methodology in Board Staff 44, what would your depreciation expense be?  Is that the 4.131 based on actuals?

MR. WEIR:  The 4.131 is based on our actuals.

MR. AIKEN:  Your actuals, not the Board methodology actuals?

MR. WEIR:  Not the straight-line method shown here.

MR. AIKEN:  Okay.  Yes, I think you said earlier that the 4.131 was based on the Board methodology, so if it's not, then I would like another undertaking for you to provide the actual Board methodology depreciation expense calculated in the same way as the response to Board Staff 44.

MR. CLINTON:  Iaian Clinton from Newmarket-Tay Power.  I think he was correct in that original assumption that that 4.1 is using the Board's methodology of a half year, plus the half year.

MR. AIKEN:  And that's different than this methodology?

MR. CLINTON:  This methodology is just taking it at a higher level, dividing your total assets by the straight-line numbers; right?


MR. AIKEN:  Well, you are applying the half year to the additions here; are you not?

MR. CLINTON:  Yes, we are.

MR. AIKEN:  So how does that differ from the Board methodology?

MR. CLINTON:  The board methodology is half -- the way it worked was basically your actuals, plus your half-year test or your bridge, plus your test year; right?

MR. AIKEN:  You're taking depreciation on the average of your opening and closing balance --

MR. CLINTON:  No, no, you had --

MR. AIKEN:  -- and that's what this does, because here you're taking your depreciation on your opening balance, plus half your additions.  The result should be the same.

MR. CLINTON:  I think we're talking the same thing, just, again, it's your actual -- the way the Board methodology works is you took your -- in our case, it was 2006 actuals, 2007 bridge, right, 2008 projected.  That's the way we're doing it this way.

This chart here is just merely a reproduction of the original IR that came from somebody in the first round, and I can't remember who anymore.

MR. AIKEN:  I think it was one of mine.

MR. CLINTON:  Oh, is it?  Okay.

MR. AIKEN:  But I'm still confused.  Well, we'll probably talk about it at the settlement conference.

MR. CLINTON:  We can argue it later.

MR. AIKEN:  Yes.
Further Questions by Mr. Shepherd:

MR. SHEPHERD:  Let me ask a follow-up, then.  I thought I understood it, and now clearly -- it's Jay Shepherd -- and now clearly I don't.

How does the 2006 number affect your calculation of 2008 rate base?

MR. CLINTON:  It doesn't.  I was going on the Board methodology; right?

MR. SHEPHERD:  Yes.

MR. CLINTON:  That's how we originally instructed how to do this rate filing.  It was your '06 actuals, bring it across.  You had a '07 bridge year, for lack of a better term, and then you had your '08.

We're just saying, functioning this way, that's the number we got, using that way.  If you're looking for the simple, straight comparison, as the IR, that's just dividing them.

MR. SHEPHERD:  Okay.  So the -- maybe I'm misunderstanding the Board standard approach.  The Board asked you to file your 2006 rate base, your 2007 rate base and your 2008 rate base, but we're talking about how you calculated in the year, how you calculated your depreciation in the year.

And I thought the Board's standard was you take opening balance, plus closing balance, divide by two; that's your rate base, and you depreciate.

MR. CLINTON:  That's a lot easier than the way we did it, but it's -- again, we had your opening, 2006 actual; right?

MR. SHEPHERD:  Yes.

MR. CLINTON:  Calculate your 2007, has -- half-year '06 comes into effect in '07 when you're calculating everything out; right?

MR. SHEPHERD:  I don't understand that.  Try again.


MR. CLINTON:  Happy-half-year rule.

MR. SHEPHERD:  Explain that again so I can understand it.

MR. CLINTON:  I actually can't.  We've explained it enough.  Let's write it down or something.

UNKNOWN SPEAKER:  We're going to need a whiteboard.

MR. SHEPHERD:  Yes.  My apologies for pursuing it, but this is a technical conference.  This is what we're supposed to be doing, is getting on the record the actual way you did things.  And so I think it's important that we get on the record how you calculated this number.

MR. CLINTON:  We tried to calculate this number in a method in consistency with -- or consistent with the Board methodology.

MR. SHEPHERD:  And so take us through how that calculation was done.

MR. CLINTON:  Do you want to walk him through it?

MS. COCHRANE:  Do we want to do it by way of undertaking, or do we want to take a break, and then just resume for a bit after lunch?

MR. SHEPHERD:  Well, clearly there's some confusion in this.  Everybody in the room appears to be confused about this.

MS. COCHRANE:  Are we going to resolve it (inaudible) more time after lunch (inaudible).

MR. WEIR:  I don't mind taking a quick shot at it.  I'm not sure I'm going to answer Jay's question.

MR. SHEPHERD:  You know what?  Given the level of confusion, maybe it's useful if, over lunch, you write down an example or something, and then we can follow it up after lunch.

MR. WEIR:  Sure.

MS. COCHRANE:  Is an hour enough?  We can come back at 2:00 to continue?  Does that make sense?

--- Luncheon recess taken at 12:59 p.m.
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--- Resuming at 2:18 p.m.

MS. COCHRANE:  Everybody is back and we are ready to resume.  We had left off with the panel for Newmarket-Tay was going to discuss amongst themselves a response to the last question that Mr. Shepherd had put to them, and hopefully come back with a response, or -- and then we can move to the settlement conference.

MR. TAYLOR:  Andrew Taylor.  Before starting this part of the day, I spoke with the intervenors, and I think that we've agreed that we can deal with this by way of undertaking.  So why don't the intervenors tell us what undertakings, exactly, they want, and we'll go from there?

MR. SHEPHERD:  Well, I think the key undertaking is to have Board Staff 44 redone using actuals.  Is that -- Mr. Aiken was talking about that earlier.  I don't know whether we have that on the record.


MS. COCHRANE:  Do we have that undertaking?  Is Newmarket-Tay willing to give that undertaking to provide that information?

MR. TAYLOR:  Yes, it is.

MS. COCHRANE:  Okay.  That will be Undertaking JT.6.
Undertaking No. JT.6:  To update Board Staff Interrogatory No. 44 using actuals.

MS. COCHRANE:  Any other requests for undertakings?

MR. SHEPHERD:  No.

MS. COCHRANE:  That's it?

MR. FERGUSON:  Paul Ferguson, Newmarket.  I would just like to make a point of clarification.

When there was discussion earlier about MDMR costs, in that, we aren't talking about the cost of the MDMR service from the IESO, but more MDMR management costs from a perspective of an LDC; and that is managing the data from the meters into the MDMR and the trouble reports that result from that, and clarifying those data reports so that the data is correctly gathered and it's assembled for proper billing purposes.

MR. SHEPHERD:  Am I right in understanding, Mr. Ferguson -- Jay Shepherd, sorry.

Am I right in understanding, Mr. Ferguson, that the amount you had in the budget for 2008, which you now expect to spend in 2009, is a first-year cost, and it's likely to go down over time as you -- as the system -- as the bugs get out of the system?

MR. FERGUSON:  No.  At this point, we expect them to be ongoing costs, in terms of exception reporting and - excuse me - data correction, data validation.

And it will be a recurring cost annually.

MR. SHEPHERD:  I guess what I don't understand is your first-year costs will be the same as your subsequent year costs?  You won't get any better at it?

MR. FERGUSON:  We can't get any better at it.  Maybe the meters might get better at it, okay, but it's a technical database issue that we have to manage these exception reports.  And based on where we are right now, that is our experience at this point, and we haven't seen any improvement yet; our meter data is very good going in in the first place.

So this is the amount we're looking at there, and in 2008 they were part of a capital smart meter budget, but were moved to OM&A when the system is in service.

From what we've seen right now, with very good reporting, that is the workload we will have going forward.

MR. SHEPHERD:  Okay, thank you.  I have just one other question, and that is you referred earlier to the status of your financial statements.  I guess what I'm wondering is:  Am I right in assuming you haven't yet filed your 2009 IRM application?

MR. CLINTON:  That is correct.  We have not filed the 2009 IRM.


MR. SHEPHERD:  You're planning to do so after this?

MR. CLINTON:  Yes.  Okay.

MR. SHEPHERD:  Thanks.  I have no other questions.
Further Questions by Mr. Harper:

MR. HARPER:  Actually, it's Bill Harper.  I have just one short question following up on Mr. Ferguson's clarification on the MDMR costs, because you also had in your application a request for deferral account-related MDMR.

I assume -- was that deferral account related to fees you would pay to the IESO, or was that deferral account also related to more your sort of own sort of data verification costs?

MR. FERGUSON:  That is the fee we would pay the smart meter entity for MDMR service.

MR. HARPER:  Okay, thank you.

MS. COCHRANE:  Any other questions arising from that discussion?

Then I guess we are adjourned the technical conference portion of it, and we will resume with the settlement conference.  Thank you.

--- Whereupon the conference adjourned at 2:24 p.m.


















PAGE  

